
COMPUTABILITY

EXERCISE : A = SeceN( We = Ess

* A is saturated

A = (x) qu = a) A = (f) domif) = cod(f)}

* A is not ze.
L

observe 1 A dom (1) cod (1)
11 Il

N (1)

but J = P = 1 and Be A

hence A is not r .e. by Rice-chapizo /hence not recursive

* A is not 2.e.

take pred (x) = x = 1 dom (pred) = cod(pred) = N

nerce prede et no prede i

but if you take tepred

Sk = -
if = 1

&
otherwise

don (5) = 40 . 23 Ecod(1) = 40)

nuna dec no Se i

hena
, by Rice-shapizo A is not 2e

.

/ hance i not recursive












